Bridge at the Lunatic Fringe --  Number   21 – 

An extra chance
Roger and the Professor had started playing a variation of Bergen raises that have become popular in some circles.  
In this variation, responses  to a Major opening are as follows:

3( shows a 4 card raise with points from 7 to 12.

3( shows specifically a 3-card limit raise.  This is the hand that with old methods, you had to first bid 1NT, planning to jump to 3 of the Major at your next turn.
Following the 3( response, opener can then bid 3( to find our whether the 3( bid was constructive (7 to 9 points) or a full limit (10 to 12).  Responder returns to 3 of the Major to show the 7 to 9 range;  any other bid implies a full limit raise,

The advantage of this variation is that the 3( bid gets the nature of your hand off your chest immediately at the 3-level;  whereas over a forcing 1NT, your opponent can make a competitive or lead-directing bid at the 2-level.

Professor (North)
(  K J 8 3


(  6 4



(  8 6 5 


(  A Q 5 2
Warren (South)
(  A Q 9 7 4 2
(  A K 2 


(  4 
(  7 6 2
With both sides vulnerable, the bidding proceeded as follows:
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Warren judged that he wanted to be in game if the professor had a full limit (10-12) raise, but would be content at the 3-level if the professor had only a constructive (7-9) raise.

Hence the 3( bid.  In response, the Professor showed a full limit raise, cue-bidding his Ace along the way, in case Warren had slam interest.

The opening lead was the (Q.

When the dummy came down, Warren saw that this was an easy contract, losing at most a diamond and two clubs.  The club finesse would provide an easy overtrick, so important in a matchpoint game.  Warren found an extra chance for the overtrick, even if the

even if the club finesse is off.  
The layout suggested the possibility of an end play.  After drawing trumps, both red suits could be eliminated, still leaving trumps in both the dummy and declarer hands.  The problem was getting East into the lead at the right time, forcing him to lead a club into the AQ or to concede a ruff and sluff.  The very low club spots made a club throw-in very unlikely.  Only if the West hand had a very unlucky club holding such as KJT or KJT9 could he be thrown in in the club suit.  
The play proceeded as follows:
Warren won the heart lead, and took out trumps in two rounds, ending in dummy.  He then led a diamond, won by East with the King by East, who then tried to cash the diamond Ace.

Warren ruffed, cashed his second heart winner, and ruffed the third heart in dummy.
Now came the key play.  Judging the unlikelihood of ducking a club into the West hand, Warren now cashed the club Ace before ruffing the third diamond back in hand.  Then a club toward dummy’s Queen.  If the King were with West, his club losers would still be limited to only one, but by playing in this way, he would also limit his club losers if East started with K doubleton, as he would now be forced to lead a red card, giving up a ruff and sluff.  

And sure enough, East won with the club King, and led back a diamond, allowing Warren to discard his remaining club loser, while ruffing in dummy.
The full hands:

Professor (North)

(  K J 8 3



(  6 4




(  8 6 5 



(  A Q 5 2

East



West





(  T 



( 6 5

(  Q J T 8


( 9 7 5 3


(  Q T 9 7


( A K J 3 2
(  J T 9 3


( K 8
Warren (South)

(  A Q 9 7 4 2

(  A K 2 


(  4 

(  7 6 4

The AQx club suit combination in this hand is noteworthy.  With a sure loser in the suit, it costs nothing to cash the Ace first, planning later to lead toward the Q.  On a lucky day, you may catch a singleton or doubleton King, to Easts’s disadvantage.
